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ﬁﬁg TREOBBDESLADKRES TREQHBESSLADKRES TREOBBOESLADKRES TREDOHBEILHOKRES
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; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLst 1.001 000 ~ 477 59.46 | =hst | 000 ~ 000|170 8.61 znLst 1.00 | 5.00 ~ 5.00 59.46 | =nLS | 5,00 ~ 500 1.70 8.61
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 5.16 64.29 | =N | 000 ~ 516 1.81 914 ZznLst 1.00 | 5.00 ~ 5.60 64.29 | =hS | 6,00 ~ 5.60 | 1.81 914
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLs 1.00 |1 0.00 ~ 5.00 62.35 | =S | 000 ~ 0.00)] 1.65 8.33 znLst 1.00 | 5.00 ~ 5.40 62.35 | #hS | 6,00 ~ 5,40 | 1.65 8.33
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%Z#8 %% — - ~ — —|3mZE#BZ 3 - ~ — — -
znLst 1.00 ] 0.00 ~ 6.59 83.07 | =hst | 0.oo ~ 0.00| 1.60 8.08 znLst 1.00 | 5.00 ~ 8.50 83.07 | #nLS | 5,00 ~ 8560 | 1.60 8.08
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%Z#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 6.62 83.47 | =hst | 0oo ~ 000|170 8.68 ZznLst 1.00 | 5.00 ~ 8.00 83.47 | =S | 5,00 ~ 800 1.70 8.68
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — -
ZznLst 1.00 | 0.00 ~ 6.31 79.28 | =St | 0.00 ~ 0.00] 1.58 7.98 ZznLs 1.00 | 5.00 ~ 8.08 79.28 | EnLS | 5,00 ~ 808 | 1.68 7.98
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZE#BZ 3 - ~ — — -
znLst 1.00 1 0.00 ~ 7.43 94.89 | =hst | 0oo ~ 000| 1.67 8.44 ZznLst 1.00 | 6.00 ~ 9.96 94.89 | =N | 5,00 ~ 9.96 | 1.67 8.44
100kN/M%Z#B % % ~ 3ImEHBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZnLst ~ Zhst ~ ZnLst ~
100kN/M%Z#B % % ~ 3ImEHBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZnLst ~ Zhst ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zzhst ~ ZnLst ~ ZThst ~ ZnLst ~
100kN/M%Z#B % % ~ 3ImEHBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZnLst ~ Zhst ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZnLst ~ Zhst ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ ZhLst ~ ZThst ~ ZnLst ~
100kN/M%Z#B % % ~ 3ImEHBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zzhst ~ ZhLst ~ Zzhst ~ ZhLst ~
100kN/M%Z#B % % ~ 3ImEHBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZzhLst ~ zhn st ~ ZzhLst ~ Zzhn st ~
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